Time: 2 Hours. Maximum Marks: 480

1. This Paper Contains Question 120. Part — I: 30 Questions & Part — II: 120
Questions.

2. Part — | contains total 30 questions of IQ (Mental Ability).

3. Part — Il contains 120 questions under 4 sections which are — Section (A)
Physics, Section (B) Chemistry, Section (C) Mathematics* & Section (D) Biology

Important:

1. For Engineering Stream attempt Only Section — A (Physics), Section - B
(Chemistry), and Section - C (Mathematics)

2. *For Medical Stream attempt Only Section — A (Physics), Section - B
(Chemistry), and Section - D (Biology)

Marking Scheme:

For each Correct Answer: 4 Marks and for each incorrect answer: No Negative
Marking



PART - |
IQ (MENTAL ABILITY)

This section contains 30 Multiple choice questions. Each question has four choices (1), (2), (3) and
(4) out of which ONLY ONE is correct.

1. Lataand Meeta are Rohit’s wives. Shweta is Meeta’s step-daughter. How is Lata related to Shweta?
a9 Hirar, Afed w1 aferal & vor, Hiar w1 Sidei T ¥ | o 1 vora A i ey e ?
(1) Sister (2) Mother-in-law (3) Mother (4) Step-mother
(1) afem (2) |9 (3) = (4) gt =

2. In the given question three positions of the same dice have been shown. You have to see these
figures and select the number opposite to the number as asked in the question.

T3 13 weet 8w U o o feafaat gems w8 ¥ ) snvet 39 fasl o6 S weR § qEt T deen & fawdia gen
I FHET L

(i) (ii) (iii)
Which number is opposite to number 1:

e 1 % faudia e 5 2
(1) 4 (2) 6 3)2 (4)3

3. Krishna walks for 10 km towards North. From here he walks back 6 km towards South. Then, he
walks 3 km towards East. How far and in which direction is he with reference to his starting point?

FoM 10 km ST %1 3R =T ¢ | T2l T 97 6 km 1@ 2f&m w1 oI 7o ¢ | 7@ 78 3 km T3 1 AR =T 2 )
T 7 URfve fog & dasl # forat gt aan fora feem # %2

(1) 5 km East (2) 7 km West (3) 7 km East (4) 5 km North-East

(1) 5 km & (2) 7 km qfy=m (3) 7 km & (4) 5 km STR-q9

4. How many triangles are there in the following figure?

o o 3 forert Foregst 8712

(1) 16 (2) 18 (3) 22 (4) 20



10.

Following question consists of four figures marked A, B, C and D called the Problem Figures followed
by four other figures marked 1, 2, 3 and 4 called the Answer Figures. Select missing figure from
amongst the Answer Figures which follow same series as established by the four Problem Figures.

Ay AR R e WA, B, Caan D sifra e sy faa e mn s R o= Fer A
1, 2, 3 a91 4 3ifeha & 3= SR T3 el T T H1 TR F ¢ | SR o5 4 A o faea e s s @
St AR oA fosil & g 39 SAvf @ o9 @ |

Sl 2| 2SS

A B e D (1) (2) (3) (4)

The year next to 2003 that has the same calendar as that of the year 2003 is :
79 2003 & FHM & FHiE derst a6 2003 F T Jui § 9 B
(1) 2014 (2) 2008 (3) 2009 (4) 2010

In a row at a bus stop, A is 7" from the left and B is 9" from the right. They both interchange their
positions. Now, A becomes 11" from the left. How many people are there in the row?

TS o9 WU R UK H, A, 99 ¥ 74 TIF W 3091 B, T8 ¥ 93 WM W ¥ | A SHT 31991 T 9RaEfdd s o
T1om@ A, 93 114 T W 2, @ ufe | foram oafer 272
(1) 17 (2) 20 (3) 19 (4) 18

In the given question, choose the alternative figure in which the question figure (X) is embedded.

o3 7 o §, Tamrey fasi # Q s9 Tost =1 = witod foad wom fost (X) wenfa & s

¢ | DB

(X) (1) (2) @ @

In 1/2 hour, the long hand of a clock will rotate through an angle of
T TSt Al oSt g3 1/2 992 | fohem Feuft & i 9 ot 27
(1) 90° (2) 120° (3) 180° (4) 60°

In the following question, which term when placed at the sign of interrogation (?) shall complete the
given pattern.

fre wom #, wew fome (?) & 2o R St g et s el T e ol e

5 9 3
7—()—4 8—(]]:>—4 9—( :::}—4
3 3 3

(1)12 (2) 15 (3) 18 (4) 14



11.

12.

13.

14.

The second figure in the first unit of the problem figures bears a certain relationship to the first figure.
Similarly, one of the figure in the answer figures bears the same relationship to the first figure in the
second unit of the problem figures. You have to select that from the set of answer figure which would
come in the place of question mark (?)

vy o= & wog 9 A fadta fo=, vam fo= @ fove gey @A e s vaR s oA 4 9w faa fgfam s =&
o o & 2 GHE HaY W@ | ST ST 6 & e 8 A 0 e e wem g sy e () &
T 9T ST |

Problem Figures (9% fa= )

|2l . Kk -

1 2 3 4
1 |[ E) @[> @ <)

Introducing a man Neeraj said, “His wife is the only daughter of my wife.” How is Neeraj related to
that man?

T STGHT o1 I S0 g TS HEdl ¢, “SHHRT e, BRI Y T WA A T 1 A T STH S W Rl
Y B ?

(1) Father (2) Grandfather (3) Father-in-law (4) Son

(1) fom (2) wrarsit (3) 7 (4) 97

Five children were administered psychological tests to know their intellectual levels. In the report,
psychologists pointed out that the child P is less intelligent than the child Q, the child R is less
intelligent than the child S.The child Q is less intelligent than the child R and child P is more
intelligent than the child T.Which child is the most intelligent?

Ui Sl o S Sl G TR 1 WA o o1 BAIasie qereor feran 7 | fodid |, weast-en s ¢ foh s
P, 5=a1 Q, 1 qoT1 &8 qGHH ¢ | &= R, r=a1 S &1 qor %H FfGHH ¢ | 5=a1 Q, I=d1 R &1 qor1 § %"
fgam T g a1 B, 5= T w1 gor1 | siferes Sfgam 81 e s==1 9o a1y 9fgam 37

()P (2) Q )T 4)S

The following diagram depicts various views of a cube. Each faces has some number, where as in
cube 4, one face is blank. From the answer choice select the number that should come in the blank
space.

T ot & w1 =1 farfor feafeat guiis € % 1 vois wore R s Sed § el 919 51 W 0 e @ g
=R S fasmedl § 9 U G 1 999 1 o T Tereh 9 ST |

B99¢

1yl (2)5 (3) 6 (4) 3



15.

16.

17.

18.

19.

Eight friends P, Q, R, S, T, U, V and W are sitting around a circular table facing centre,
Q is sitting between V and S. W is third to the left of Q and second to the right of P. R is sitting
between P and V. Q and T are not sitting opposite to each other.

Who is third to the left of S?

aefm PR Q,R, S, T, U, Vaa W U TiesR 2ae1 % R 3iR 43 2 e Seu 5 31 siR 3 Vag S &
T QFATIW, QF T AR YA R I TaMP F e A AR I PaarVE =g R a1 %)
QU T Us-g&R & U@ T8 43 8| S & 9/ 6 T4 W FHH 9 ¢ 7

(1)U (2 P (3T 4)S

If J = 10, JASMINE = 71, then ESTIMATE = ?
Ife J = 10, JASMINE = 71, @@ ESTIMATE = ?
(1) 71 (2) 82 (3) 92 (4)91

In the given question, two statements followed by four conclusions numbered [, II, Ill and IV. You have
to take the given two statements to be true even if they seem to be at variance from commonly known
facts. Read the conclusions and then decide which of the conclusions logically follows from the two
given statements.

e wee 1 &3 T ol & smEm W =R et 1 11 11T aen [V 1 ST8o S €1 39kt 53 73 S shem
GO €Y Y T ¥ | FE G 9l 9 % g S e feard St ®, @ @ T € el B STeR W
fearmt =1 Aol =ifsma |
Statements : 1. All flowers are fruits. (Gt flowers, fruits ¥ 1)
HYT : I1. Some fruits are roots . (F® fruits, roots T 1)
Conclusions : I. Some roots are fruits. (F® roofs, fruits ¥ 1)
frey II. Some fruits are not flowers. (F fruits, flowers T& 1)
I11. Some fruits are not roots. (S fruits, roots & &1 )
IV. Some roofs are not fruits. (F® roots, fruits T& 1)
(1) Only I follows (et ferd [ @@t ?)
(2) Only II, I and IV follow (et fead 11, 11l @ [V 921 ¥)
(3) Only 11l and 1V follow (= fears 111 @ IV @&t 2)
(4) All follow (wft feerel wet 2)

If P means X, Q means —, R means +, S means + then find the value 5 P4 Q3S8R2?
AgPFAd X, QF Ad— RTAg +~, ST 34 + &, T5P4 Q3 S8R 2w AA = ?
(1) 18 (2) 16 (3) 23 (4) 21

Find the time between 3 and 4 O’ clock when the angle between the hands of a watch is
one-third of a right angle.

391 4 TS HA I GHA BN S U TS FHI YAl S HEA HIVT, GHR I F UF f@Ts & ?

10 9 9 10
(1) 10H min past 3  (2) IOH min past 3 (3) 1111 min past 3 (4) 2011 min past 3
10 9 9 10
(1) 3=t IOHﬁﬁz (2) 3= loﬁﬁﬁz (B)BWHHW (4) 3 T 20ﬁﬁq=|z

>



20.

21.

22.

23.

Pointing to a photograph, a woman says, “This man’s son’s sister is my mother”. How is the woman
related to the man in the photograph :

TR T ST ST A §U, U Aot Hedt & ' 39 ARH o T 1 afed 30 A ¢ 1" FIewTE § s #
Tfee & WY HTE T T

(1) Daughter (2) Mother (3) Granddaughter (4) Mother-in-law

(1) it (2) =t (3) it (4) 5re

Which of the following dice is identical to the unfolded figure as shown here ?
Tt 5 9 i a9 T e e & aueT 77

Cln|d|T

Q

A man walks 30 m towards South. Then turning to his right he walks 30 m. Then turning to his left
he walks 20 m. Again turning to his left he walks 30 m. How far is he from his starting position:

T S 30 HieX i Y SR =er @ 79 9% o7 S gEeRt 30 Hiex er ¥ | a6 98 o7 @ e 20
Hiex Feran | A ST 9 gueRt 30 Hiet Ferdr 8 | 98 S9! yRfnye feafa & fhadt g m T

(1) 30 m (2)20 m (3) 80 m (4) 50 m
(1) 30 m (2)20 m (3) 80 m (4) 50 m
How many triangles are there in the following figure?

o1 fom & fopam oy &M ?

(1) 34 (2) 36 (3) 38 (4) 44



24. What is missing in the last grid ?
1= arett fire ® wed fog & v R fashedi # i faswes T8t 2m ?

00000 Oe000| |OCe000
Q0000 108000 | |eeeed
00000 | |0O0000| |000e0
00000 |108000| |00000
0e000| |Oe000| |00000
0000e 90000

000ee| (0000

00800 | |e0eCO ¥
09000 90000

00000 OOe00

(3) (4)

25. Today is Friday. On the last monday the date was 29th December, 1975. The date today is :
19 YEFaR ¥ | frset drmar w1 29 feger 1975 o1 1 a@ 11 a’ie gt -
(1) 28 December, 1975 (2) 3rd January, 1976
(3) 2nd January, 1976 (4) 2nd January, 1975

26. Shyam ranked 12" from the top and 28" from the bottom among those children who passed the
examination. Eight children failed in the examination while five children did not appear in the
examination. How many children were there in the class ?

T TR H U e e sed 8 SR 9 12 & T W 3 A e 9 28 ° T W R | 3116 I wien § Bt g
et uiw o wiren H Sufeed TE gy | 39 wen | fohan 9= 92
(1) 50 (2) 51 (3) 52 (4) 53

27. In the given question below, you are given a figure (X) followed by four figures (1), (2), (3) and (4)
such that (X) is embedded in one of them. Choose the correct alternative.

2 e T e °, fo (X) 1wy @ @ = m et (1), (2), (3) 91 (4) 7 9 et ww e a7 fom (X) &3
T foreht we ot # enfyre w9 | watmem T 57 o= = g

2,

(X)

(1) 2) (3) (4)



28. At what time between 6 O'clock and 7 O'clock will the hands of a clock be at right angle?

29.

30.

T TSt AT GEAT 6 091 7 99 % HeA G THT FHER W At 77

1
(1) 49lmin past 6 and 16imin past 6 (2) 50 — min past 6 and 16i min past 6
11 11 11 11
3 47L i t6 d42L i t6 4 47‘i i t6 d164 i t6
(3) 17 Min past 6 an 17 ™min pas (4) 11 Min past 6 an ﬁmm pas

(1) 6 =TT 49%%&3%6&% 16%&?2 (2) 6 FTHT 50%&123&163@?{16%&?2
1 1 1
(3) 6 TSI 47Hﬁﬁzamﬁw 421—1-fq=|a (4) 6 T 47ﬁﬁq=12ﬁa16aw 16%13432

Find the missing term :

oo ug (?) 9 Hifeg :
VA AGAN
4 5 10
(1) 22 (2) 23 (3) 28 (4) 32

There are four statements given below as premises, which support the conclusion suggested in the
answer options. You may select the conclusion that makes the whole agrument valid.

Statement :

All Actors are Musicians. No Musician is a Singer.
Some Singers are Dancers. Some Dancers are Musicians.
Conclusions :

[ : Some Actors are Singers Il : Some Dancers are Actors

IIT : No Actor is a Singer
WR HgF A 53 73 T S SR faemedt # fod 73 Tt o1 wmd= 3 § | 3179 39 fHeend o1 599 i TR g S

P F T

Y :

|4t Actors, Musicians 2 | =13 4t Musician, Singer =& € |
%3 Singers, Dancers ¥ | %3 Dancers, Musicians % |
el -

I : #® Actors, Singers Tl II : %® Dancers, Actors &4

I1I : =12 +ft Actor, Singer &1 |

(1) Only conclusion I follows. 2) Only conclusion I follows.

(3) Exactly one of conclusion I, III follows.

(
(
(1) saet frowd [ w& 2 (
(

4) Only conclusion II follows.
2

) e frear 111 e 21

(3) frerl 1, 111 ® & S w92t 21 4) whae frewd [ 98 21



PART - Il
SECTION - A : PHYSICS

This section contains 30 Multiple choice questions. Each question has four choices (1), (2), (3) and
(4) out of which ONLY ONE is correct.

41.

42.

43.

44,

45.

Unit of electric power may also be expressed as :
forega wifera st $ohté o1 et &0 & forean s wehar 3
(1) volt x ampere (2) kilowatt x hour  (3) watt x second (4) joule x second

(1) Free X TR (2) fapeitare x = (3) =2 x Hepvg (4) 5@ x T=ve

A compass needle just above a wire in which electrons are moving towards North, will point :
T aR | soraelHl o1 aTe St faun @ iR B 39 R % IR @ g fawn gue 19 w5 g e fowm i
-

(1) East (2) West (3) North (4) South
(1) 9@ (2) afe=m (3) 3™ (4) =fagon
Like poles :

THTHH Ya-

(1) Attract each other

(2) Repel each other

(3) May attract & may repel each other
(4) It depends on position of pole

(1) Tk SR I STeR{ta FA &

(2) U TER I gicahitd Fd &

(3) st o wiaenfia S T gd §
(4) i =t feafa = fAi Fwa @

The length of a conductor is doubled and its radius is halved, its resistivity is

~TCToh o1 RS 21 a1 1 A1 ST Trou Y STe o fe e ¥, skt wiekierehan e

(1) unchanged (2) halved (3) doubled (4) quadrupled
(1) =7&F =t (2) et & St (3) SrTA B S (4) =R T 2 S

Outside the magnet, magnetic field lines start :

T T % AE T 6 TS TR 2l €

(1) From North pole of a magnet

(2) From South pole of a magnet

(3) Either from North pole or South pole of a magnet
(4) There is no magentic field lines out side the magnet

(1) ek o STt Yo |
(2) g & gt ga |
(3) gk & 3T a9 & g | fHE H 9
(4) ~r=rek o =TeX TR 9ol Y@ Tel el 8



46.

47.

48.

49.

Figure (i), (ii), (iii) and (iv) respectively correspond to :
Tata (i), (i), (iii) T (iv) o T &-

(O G ._-’—_‘:gz@
(iii) -qj@:- (iv) -:::::ZZZKG@

(1) The short-sighted eye, the correction of long-sight, the long-sighted eye and the correction of
short-sight

(2) The short-sighted eye, the correction of short-sight, the long-sighted eye and the correction of
long-sight

(3) The long-sighted eye, correction of short-sight, the short-sighted eye and the correction of long-sight

(4) The long-sighted the short-sighted eye, correction of short-sight eye and the correction of long-sight
eye

(1) frere gfie S sifer, X Tt 1 GUR, STt <M sife aa1 fee gfte =61 gamr

(2) Trere gfte 3 sife, Fire T21 1 GUR, U T a1 i@ a9 3T g 1 §8R

(3) X 3= 2 sifa, e T2t 1 R, Tishe 321 ’m sifa a91 X g =1 goR

(4) T 3fe 3 sifa, Frere gt A sifa, Fere T2t 1 GuR a91 S5 &1 §8R

(1)

A B J

The mineral which can attract the small pieces of iron towards it is called :

TIE & SIS THSI h STR{T A A Gl i Fad o
(1) Magnet (2) Magnetite (3) Magnesium (4) Dipole

A straight wire is carrying an electric current :
T e R § fega O yerted 8 W@ e
(1) There are no magnetic lines of force near the wire
(2) There are lines of force and they are circular lines encircling the wire
3) The lines of force are straight lines parallel to the wire
4) The lines of force are straight lines parallel to the wire in the direction opposite to the current

(
(
(1) TR & STTE9TE 18 At kg 9o Y 7@ g
(2) TR =R T TR T T JER

(3) gk 9wt @t dR & HMFRR §

(4) FrreRTa we Yard aR B GHARR e ferga o e faadta foen 3 sufga #

Fleming’s right hand rule gives
FATHT o1 T 21 1 e e e B
(1) the direction of magnetic field due to a current carrying straight conductor.
2) the direction of magnetic force on a current carrying conductor in a region of magnetic field

(
(3) the direction of induced current in straight wire

(4) the direction of magnetic field due to a current carrying circular coil
(

(

1) forga om0 wag 39 aret W9 e w1 ase | 3o qReehia & Fi fu
2) Jrashia & 1 et faga or yenfed Jersh W greehia 9 Fi e

(3) =id ar 7 Ufia g T fewm

(4) forga o wanfed SR HUST! hi 9% F THEHE &7 w1 fagn

an



50. Magnetic lines of force

51.

52.

53.

T T @

(1) Always intersect

(2) Are closed curves

(3) Tend to crowd far away from the poles of a magnet
(4) Do not pass through vacuum

(1) THIM IO H1edt &

(2) =T =15 Bl &

(3) =ik = YA | =gd T TR Bl §
(4) frata & =& Tordr &

The term refraction of light is :
THTE T STISAR &-

(1) The bending of light rays when it enter from one medium to another medium
(2) Splitting of white light into seven colours when it passes through the prism

(3) Bending of light round corners of obstacles and apertures

(4) Coming back of light after striking a bright smooth surface

(1) TeTeT 31 TS TETH | T AR H 91 W HE 9

(2) w1 1 g B S e 8§ e W

(3) Tt B & TSRA T TEHTET T T ST

(4) foreht fasret Tde | THT T THTYT 1 ATH T ST

A current in wire is toward South to North find the direction of mangnetic field at point 'p'-

T R # o o <fam & It W 97 @R fag p! R grfea we Tenstt wi e = a-

oP
(1) perpendicular outward (2) perpendicular inward
(3) toward North (4) toward South
(1) Tr=ad TR & 9ER 1 WEH (2) TrEd TR & 3T HI WE
(3) ITR Ft WH (4) =fagor =t WE
A permanent magnet attracts :
T TS A ST A Ll &
(1) All substances (2) Only magnetic substances
(3) Attracts & repels magnetic substances (4) All conducting substances
(1) Tt =it =l (2) FEe G aEge Hl

(3) FEwT g3 1 SAHa o faswiad wa € (4) T+t =TT T,



54.

55.

56.

57.

58.

59.

Which of the following statement is not true for natural magnets :

WTehfcer Gkl o ToTT a1 9+ Tl el ¢ ?

(1) They are strong magnets

(3) They have irregular shape

(1) 3 wrfsremett o €|

(3) 37T SR AT Bren ¥

Which of the following statement is wrong :

= § | A 99 TTord § 2

(2) They are called lodestone
(4) They attract iron

(2) TR TSR ot dierd B
(4) % R ) TR e 3

(1) Ammeter is a device used to measure current (2) Resistance of voltmeter is small

(3) Resistance of Ammeter is small

(1) wHtex = S, o umr @99 & o 2 @

(3) THtex =1 wfediy 9 B

(4) Voltmeter connected in parallel
(2) Areeriex 1 gfadiy w9 o &
(4) SieeH TR T 8 T S g

Inside the bar magnet, direction of magnetic lines of force is from -

el Jorh % iR, G T i faen Bt g 2

(1) North pole to south pole

(2) South pole to north pole

(3) There is no magnetic field lines inside magnet (4) South pole to south pole

(1) 3w g | el ¥a
(3) eI oIt T@T ook & A=< e 9IS St

(2) feoft ya & 3t ya
(4) =feort g3 | ol ya

When light rays enter the eye, most of the refraction occurs at the

& WehTeT foRo) 331 1 wieree 2t € d sifereman sred= el e 2:

(1) erystalline lens
(3) iris

(1) oreeta &g
(3) smsfim

When a bar magnet is broken into pieces,

I et B s 1 S 9rll § digd g dl
(1) we will have single pole on each piece
3) each piece will have two unlike poles

(
(1) werss W U & oF am
(3) wedes T H € STEEE yd B

Joule/coulomb is the unit of :
S/ T T ST 8 2
(2) Current

(2) forga wmn

(1) Electric potential
(1) o dva

(2) outer surface of the cornea

(4) pupil
(2) =T i AT TR

(4) et

(2) each piece will have two like poles
(4) the magnet will lose its magnetism

(2) wersh 9T | <1 HAE g3 e
(4) e 791 e @l o

(3) Force
(3) =

(4) Work
(4) =



60.

61.

62.

63.

64.

When current flows clock-wise in a loop the polarity of its face is :

Az fordt o # o afamomad warfed & Wi & @ 39 wers Fi ga o

(1) East (2) South (3) West (4) North
(1) 9o (2) =fam (3) afy=m (4) 3T

iron nail

_._h...-.l —

battery

coil of :
insulated —»
wire C D

_._o/.o_.

= switch

Which of the following will behave as north pole, when switch will be closed.

et # | i fomg Se 9@ & EH SFaeR T, At oo w1 g o s 2

(1) Point A (2) Point B (3) Point C (4) Point D
(1) g A (2) a5 B (3) g C (4) gD
Magnetite is a/an
Trerss wF -
(1) Natural magnet (2) Electromagnet (3) U-shaped magnet (4) Man made magnet
(1) wrepfaes g & (2) Torege Jore & (B) U-seprR s gasr ¢ (4) wre fffa gaek
For the following ray diagram choose the correct option :
ferq T for & fore ek et -
1tr
(1) £Li>& (2) Li=2r {(3) Zi<Zr (4) can't say (& el Tehd)

The magnetic field due to a straight current carrying conductor is :

Y URTETE! AR g & R W T e
(1) Straight lines (2) Concentric spheres (3) Concentric circles  (4) Elliptical

(1) =ieft T (2) g9t Tt (3) TR I (4) Freigr



65.

66.

67.

68.

Conventional current flow in a direction :

TORATA SR et 3

(1) Of motion of electron (2) Opposite to electron motion

(3) From low potential to high potential (4) Opposite to the direction of positive ions
(1) serReA = 7fa =t fewn | (2) serRer = Tifd =t few & faudia

(3) =w fawa & s=a fawa =1 IR (4) wFTeaeR staT & faudia feen &

A, B and C are identical bulbs. What happens to the brightness of A and C if bulb B is fused.
A, BTd C T S8 9cal 31 IS oot B WS @ STl €t A T C 3 el T 3 WH T2 7

¥
%

I
T
v

(1) Brightness of both increases (2) Brightness of A increases and C decreases
(3) Brightness of B increases and A decreases  (4) No bulbs will glow

(1) St =T <iorn =g ST (2) A =t direran st wa C =t =t

(3) C =t diteran =7t Ua A i 517t (4) =18 +ft aoa =& Serm

By inserting a soft iron piece into a solenoid the magnetic field will :
e TH TE 1 THST U URATCIohT | SIoT U Gk &1 2

(1) Decrease (=)

(2) Increase (ar&m)

(3) Remains (FH™ &)

(4) Solenoid stops working (UfATeTHT F1¥ T &g =T <7M)

A magnetic field line is used to find the direction of :

JaET & T w1 3uAn fraet fewn freeer J da 22
(1) South-North (2) A bar magnet (3) A compass needle (4) Magnetic field

(1) 37 - =femft (2) e Hoew (3) w e g2 (4) Gt &



69.

70.

Equivalent resistance of the circuit shown above will be :
fau Tu Tk 1 T gialy 2m-
20
20 20
A B
H!
(1)3.33Q (2)1.25Q (3)25Q 4)4Q

Cathode rays (beam of electrons) are moving between the poles of a magnet. Due to the effect of
magnetic field of magnet :

hers frtl (gerael o1 4o et Iwmh & g & 787 T1fd S @8 | e o ki 849 % g9 9

(1) velocity of rays increases

(2) velocity of rays decreases

(3) rays deflected towards south pole

(4) rays deflected in upward direction and perpendicular to the plane of the paper

(1) forzomt =1 3 @@

(2) ferzoit =t & =&

(3) fereot afemit ga =t iR fadfa @t

(4) forTot SR T TR 91 Io3 & erarad fastya 2



SECTION - B : CHEMISTRY

This section contains 30 Multiple choice questions. Each question has four choices (1), (2), (3) and
(4) out of which ONLY ONE is correct.

81.

82.

83.

85.

86.

A balanced chemical equation is in accordance with —

T Haferd T wetEw fr | | R sEy eem-

(1) avogadro’s law (2) law of multiple proportion
(3) law of conservation of mass (4) law of gaseous volumes
(1) smErms fem (2) fafe=1 sram =1 faw

(3) s wXem w1 fem (4) T s7aTa 6

In the chemical reaction
Fat + ? - Soap + glycerol
Which of the following reactants is missing?

Tt srfaferan &

FH + ? - FEA + e

i SRR sTafeya 82

(1) Gil (2) Water (3) Alkali (4) Acid
(1) & (2) it (3) & (4) 31

The aqueous solution of which one of the following salts will be acidic :

Tt & 5 forg o1am o1 Stefta faerem sreefta 2
(1) NaHCO, (2) NaCl (3) NH,CI (4) CH,COONa

The molecular formulae of some organic compounds are given below, which of these compounds
contains a Ketone group ?

e it 2ifieRt # | fored wa e age saftga 32

(1) C;HO, (2) C,H.O (3) C,H,O (4) C,H,O
Which one of the following is a chemical change :

et # | i u i afied 872

(1) Sublimation (2) Dissolution of common salt in water
(3) Bursting of cracker (4) Evaporation

(1) ST (2) w1 =1 9T H g

(3) 9= =1 He (4) aTSdTERToT

The acid - base indicator extracted from lichens is

EE H H HIE ST~ HR g Fehera € 2

(1) Phenolphthalein (2) China Rose (3) Methyl orange (4) Litmus
(1) freradfem (2) China Rose (3) fagza ik (4) forewg



87.

88.

89.

90.

91.

92.

The gas released when an acid reacts with metal carbonate is ?

e Uk 3T Hifeoreh FEie @ Y fHan war & aa st 19 e € 2
(1) H, (2) CO, (3) O, (4) SO,

Which of the following is a defect of the Mendeleev’s periodic table?
=1 § § e Aveefta &1 Ted TRt w1 FH 72

(1) The position of alkali metals. (2) The position of transition metals.
(3) The position of isotopes (4) Position of Halogens

(1) &g arget 1 T (2) FeFHEvT YR w1 T

(3) FHEAIfeR! 1 T (4) TereH w1 T

Which of the following information is not conveyed by a balanced chemical equation?

T 5 | HIE o U Sqfera A9 | T8 e 2

(1) The ratio of the moles of the reactants and products involved in the chemical reaction

(2) The ratio of the masses of the reactants and products involved in the chemical reaction

(3) The rate of the reaction and the time taken for the completion of the reaction

(4) To prepare a known amount of product, the amount of reactant to be taken can be calculated

(1) TaratTes sifuferan § wnfaer stfyerert qon Scarel & Hiet 1 STI9Ta
(2) TEratTeR sfafsran & wnfier sifenrent qe1 Searel & S| o1 ST
(3) sifufsren =t < aun stfufsran & qof a9 =1 a9

(4) Sea1g T 9T I & foru stravTeR SIfYeRReR T A i oA

An arrow facing upward in a chemical reaction shows:

S H TWE dR 1 9 o sAfafeman # g &

(1) Formation of precipitate (2) Evolution of gas
(3) Release of heat (4) Colour change
(1) sTaeq 1 = (2) g =1 THeper
(3) AT =1 THemer (4) T1 9fadm

Take a small amount of washing soda. Add to it about 1 mL of dilute hydrochloric acid. What will
you observe :

=Y Gret w1 % wmn e 388 1 ml aq HCl faem = e @ 8, dr
(1) H, gas comes out with pop sound (H, g frererdt 8, 99 &afq = @19)
(2) CO, gas comes out with brisk effervescence (CO, TE o FEERTES F WY Fawerdr ?)

(3) Only neutralisation reaction occurs, no gas is released.

(et SerdifeR stfufewn gt ¥, ¢ g =2 frepord ¥)
(4) White coloured ppt is formed. (F#g 38T aar )

Which of the following elements A, B, C, D and E with atomic number 2, 3, 7, 10 and 30 respectively
belong to the same period ?

TH] A 2, 3, 7, 10 3R 30 % fau swen: A, B, C, D @R E o & f1 8 | 8 o 98 371 & 8-
(1)A,B,C (2)B,C,D (3)A,D,E (4)B,D,E



93.

94.

95.

96.

97.

98.

Read the following reactions —

T srfaferan & -

(i) CH,COONa + NaOH—=°-»CH, + Na,CO,

(ii) CH,COOH + C,H,OH-~< CH,COOC,H, + H,O
(iii) CH,COOC,H, + NaOH — CH,COONa + C,H.OH
(iv) 2CH,COOH + 2Na — 2CH,COONa + H,

Which of the above represent(s) esterification reaction?

TE At ¥ 2
(1) Only (i) (2) Only (ii) (3) (i) and (iii) (4) (ii) and (iv)
(1) e (i) (2) ae (ii) (3) (i) e (iii) (4) (ii) a9 (iv)

The formula of the compound is A,B.. The number of electrons in the outermost orbits of Aand B
respectively are :

i %1 9 AB, %, A SR B &1 T a1edl waed § serel H1 9 -
(1) 6 and 3R 3 (2) 5and 3R 6 (3) 5 and 3R 2 (4) 2 and 3R 3

Which of the following order of atomic / ionic radius is not correct :

o] / st e & frefefed 3§ & w0 98 76 €72
(BDr>I>1 (2) Mg*? > Na* > F~ (3)P*°> < P*3 (4)Li >Be > B

For balancing the given chemical equation, if the coefficient of CXHy is 4, the coefficient of O, is :
< 7T g FHiwT 1 Egferd A ferg At C H, %1 ok 4 % 1t O, 31 e BT

CxHy +0,—— CO, + H,0

(1)d4x + vy (2)4x + 4y 3)2x+y (4) 2x + 2y

Match the chemical substances given in Column (I) with their appropriate application given in

Column(II).

et (1) & Tarafs AT H ST STgF STar Hierd (I) & @19 sifgu-

Column (I) Column (II)

(A) Bleaching powder (=&ftfs arsie) (i) Preparation of glass (T&rE @1 f#io1)

(B) Baking soda (3f&4rer) (i) Production of H, and CL, (H, IR CL, 1 &71)
(C) Washing soda (=f¥m 6ret) (iii) Decolourisation (TT&H &AT)
(D) Sodium chloride (Hifsam FEs) (iv) Antacid (wfa-371)
(1) A-(ii), B-(i), C-(iv), D-(iii) (2) A-(iii), B-(ii), C-(iv), D-(i)

)
(3) A-(iii), B-(iv), C-(i), D-(ii) (4) A-(ii), B-(iv), C-(i), D-(iii)

Graphite is used as lubricant because it is / has :

TEIEE 1 =5 o ©9 F FANT fHa1 Sran § #=ife 9% -

(1) Greyish black (2) Insoluble in water  (3) High melting point (4) Soft and slippery
(1) 0 =rem (2) ot # sl (3) Sw4 e (4) = 3R frae™ g



99.

100.

101.

102.

103.

According to Mendeleev'’s periodic law which properties of the elements are the periodic function of
their atomic masses :

Feolt & o7ad Fom % STTER F8 qedl & 01 9] So99M % |19 et e e
(1) Physical properties only (2) Chemical properties only
(4) Neither physical nor chemical properties
(1) aa “ifass 7o (2) e TrEmEfE T
(3) wifaer ok TEmEfTE < o (4) “ifass iR Tt 7o <A @

(3) Physical and chemical properties both

When ethanoic acid is treated with ethanol in presence of H,SO,, then the products is/are :

& UAIE 3771 oh1 USRIl & W9 sifuferan =d & d Sedarg amm-
(1) HCOOC,H, and water (2) C,H,COOCH, and water
(3) C;H,COOC,H, and water (4) CH;COOC,H; and water

A small amount of calcium oxide (quick lime) is taken in a beaker. Water is slowly added to this.
Which of the following observations is/are correct about this activity?

(i) The beaker becomes hot because it is an endothermic reaction

(ii) A clear solution is obtained at the top after the reaction gets over.

(iii) This reaction is a combination reaction in which quick lime (CaQO) is converted into slaked lime,
Ca(OH),.

T SR B hfeerm staarse (qaftd g) w1 arEt /e o S € 1 e SR-oR e sren s ¥ 13| atafy

% @R # frefafed § & FH-9 97 96 9/8 7

(i) =fterT T4 & ST & e 98 U ueiafies ufafma

(ii) wfafsr=n Tmra 29 & =g 3 W Uk T faers wra fwen s 2

(iii) % wfafsran weh s wfafsean & fow @fia 9 (CaO) #i get 58 97 (Ca(OH),) # weet faan - &1

(1) (i), (ii) and (iii) (2) (ii) and (iii) only (3) (iii) only (4) (i) and (iii) only

When the gases sulphur dioxide and hydrogen sulphide mix, the following reaction takes place :
SO, + 2H,S — 2H,0 + 3S. Here hydrogen sulphide is acting as-

TR STESAFAETS SR AFSIST FoF1Es & o sAfafswan e wehm s st 8,50, + 2H,S — 2H,0 + 3S
39 AR | TEge GehEs ETER wr # W@

(1) an oxidizing agent  (2) a reducing agent (3) a dehydrating agent (4) a catalyst

(1) T ST RH (2) T ATEIF FE  (3) T (Ao FRE  (4) TF SoE

The IUPAC name of the compound CH,, = C(CH,),, is :
Zifi CH,, = C(CH,), %1 [UPAC 7 &~
(1) 1, 1 Dimethylprop-2-ene 2) 2-Methyl prop-1-ene
4) 1-Isopropylethane

2) 2-fAonse Wr9-1-37
)

4) 1-sarferg e

(3) 2-Vinylpropane
(1) 1, 1 =mzfaamserie-—2-37

(
(
(
(3) 2—fammgerdraa (



104. The functional group which always occur in the middle of a carbon chain is :
71 # | -1 FrfcTs 99 S SH e e & 9re 7 o ¢
(1) Alcohol (2) Aldehyde (3) Ketone (4) Carboxylic acids
(1) sTowhrea (2) Tfeeess (3) e (4) =matfFrtas ufas

105. Which of the given substances is used in the following applications?
(i) It is used as a fire proofing material. (ii) For sealing gaps in laboratory apparatus.
(iii) It is used in making statues.

et # & -1 werd fou gu sy # Sean e s g2
(i) 35aRT ST AT Qe T % w9 H foRE S R (i) wEeTeen ST # S @ 9 @ fer)
(iii) ZEoRT STEM Gfcal e # foFa s

(1) Bleaching powder (2) Plaster of Paris (3) Baking soda (4) Washing soda
(1) =it ar8e (2) = AT (3) s et (4) =rfem e
106. Which of the following is the correct order of the atomic radii of the elements oxygen, fluorine and
nitrogen ?
=1 o | vy e =6 9t %\ a2
(1JO<F= N 2)N<F<O (3]O<N=<F @4F<O<N
107. The functional group in aldehydes is :
ufeserss # i T o
(1) —CHO (2) —(|3=O (3) —COOH (4) —COOR

108. A part of the modern periodic table is presented below in which the alphabets represent the symbols
of elements.

ST STTad FROM &1 U 91 9 W&qd {721 & FSrad &R el & Welteh! o1 Wiafiees i ¢ |
Table

Group
1 1]|2]|14|15|16(17

Period |
2 M| Q

3 Ald
4 E L T
5 G X

-

Consult the above part of the periodic table to predict which of the following is a covalent compound-
ST |V o ST S ¥ WHY L o frafated # § wiH-91 geadrses 90 &

(1) RQ, (2) AT (3)dQ (4) IX,

109. An aqueous solution of an acid is characterized by the presence of-

fordit a1ee1 & wiefta Toera= =1 fagoan foremnt Sufeafa & it &-
(1) Hion (2) OH-ion (3) H,*ion (4) H,O* ion

110. Which calcium compound does NOT increase the pH of acidic soils ?
-1 ey s st faedt =1 pH & wem &7
(1) Calcium carbonate (2) Calcium hydroxide (3) Calcium oxide (4) Calcium sulphate
(1) Sfeer wmEe (2) ey Trgiaass  (3) Hfowem siiFams (4) Hiyem owe

&



Attempt any one of Section C or D
SECTION - C: MATHEMATICS
FOR ADMISSION IN ENGINEERING STREAM

This section contains 30 Multiple choice questions. Each question has four choices (1), (2), (3) and
(4) out of which ONLY ONE is correct.

121. Which term of the AP 37, 33, 29, 25 ........ is —79
TR 9ot 37, 33,29, 25 ... T HIE1 TG — 79 BT -
(1) 30th term (2) 31st term (3) 29th term (4) 28th term

(1 +tan®)(1 - tan®)

122. If sec’ 6 = 2 and if 8 lies in the first quadrant, then find 5 3
(1+ cot“0)sin“ 0

1 +tan©)(1 - tan )

g sec? O = 2 a41 4G 6 FAH FGATY BT FI T, T ( = 3 A -
(14 cot“ 0)sin“ 6
1 1
M1 @0 @3 3 @ 5
0 s i) T D
123. If cos 75 22 , then sin® 15
V3-1
O 22 - e
7 cos 75° = 202 , @@ sin® 15° =
4 2-3 V3+2 2-443
W 5—75 @ =5 @ % @ ==
124. Solve fory : 7y? -6y -137 =0
y & ferg ge i : \7y? —6y —1347 =0
2 13 13
1 2).8= 3) =7 4) -—=.7
(1) V7, 2J7 @) 77 (3) Nid (4) Nid
125. Which of the following is a terminating decimal?
s § & a1 gia gumer -
4 3 2 1
m @) @ 3 @ 5

126. Find the number of real zeros of P(x) = (x -2)% + 3 :
P(x) = (x —2)? + 3 & Ao Y1 %1 §&H1 7 Fifag -
11 2)0 (3)2 (4) 4

25>



127. If (-1)" + (-1)*" = 0, then n is
g (-1)" + (-1)* = 0, @ n ¥ -
(1) any positive
(3) any odd natural number

(1) =7E oft e g

(3) =7E it faom wrehfaes Te

2) any negative
4) any even natural number
2) T o} HOUNCHE T&

)

(
(
(
(4) =g o TH WIhTas S

128. In the given figure DE || BC then value of AB will be :
fe& 73 fo= # DE | | BC, @& AB %1 919 217 -
A
10 em Sem
b E
6 cm
B > Cc
(1) 11 cm (2) 12 cm (3) 22 cm (4) 16 cm
129. What is the sum of the zeros of x® — 4x? + 5x - 29 :
TEIE X0 - 4x% + 5x - 29 F YT w AN -
(1)4 2)-4 (35 4)-2
130. For all values of 6, 1 + cos 6 is always
0 & 9t 7 & o, 1 + cos O Thwm T
(1) positive (2) negative (3) non-positive (4) non-negative
(1) =rea= (2) o (3) SA-gATCHw (4) ST-FoMHF
131. If the system of equations 4x + py = 21 and px — 2y = 15 has unique solution, then which of the

following could be the value of p?

g GHIHTON 1 omett 4x + py = 21 3R px — 2y = 15 & ifgd ea1 &, 70 faw 7 # | FH-91 p 1 5=

B e E?
(A) 103 (B) 105
(1) Both (A) and (B)
(3) (A), (B) and (D)
cos® sin®
132. Find

+
sin(90°-0) cos(90° -0)

cos 6 sin®

TAHTL 2 31000 -0)  cos(90°—6)
(1) 0 ©) 1

(C) 192
(2) Both (C) and (D)
(4) All of (A), (B), (C) and (D)

(D) 197

(3) 2 4)-1



133.

134.

135.

136.

137.

138.

139.

140.

1 1
If X—;=7,thenthe value of XS—X—s is

1 1
Iy x—;=7,aa x3—x—3 HTHE T -

(1) 333 (2) 243 (3) 364 (4) 234

The income of P and Q are in the ratio 3 : 2 and expenses are in the ratio 5 : 3. If both save Rs. 200,
what is the income of P?

P @41 Q = 3711 %1 319Td 3 : 2 ¥ a1 37 =599 %1 319 5 : 3 ¥ 1 AfE S Rs. 200 =r=ma €, @ P w1 31 #1
®?
(1) Rs. 700 (2) Rs. 1000 (3) Rs. 1400 (4) Rs. 1200

What is the common difference of an A.P. in which ag—ay, = 32?
If Toh TR 41 % fefta,, - a,, = 32, 76 TERR S0 1 FME SR 1d BISG

(1)8 (2) -8 (3) 4 (4) 4

(cosec A —sin A) (sec A—cos A) (tan A + cot A) =
(1) -1 (2) 2 (3)0 (4) 1

If the system of equation 2x — 3y = 3 and 4x +qu = %15 inconsistent, which of the following can

not be the value of p?

g Tt 2x — 3y = 3 91 4x +qu = gmﬁwﬁ%,mmﬁﬁmpmmaﬁ%—

(1)-24 (2) -18 (3)-12 (4) =36
Determine k such that the quadratic equation x + 7(3 + 2k) — 2x (1 + 3k) = 0 has equal roots :
foema T x2 + 7(3 + 2k) - 2x (1 + 3k) =0 F A TH GHA &, T Kk FTAF T -
10 10
(1)2,7 (2)7,5 (3) 2, 9 4) -2, o

The product of a non-zero rational and an irrational number is:

Tk 7Y TRHT S 1 U STUREE WA i T[UAEE B -

(1) always irrational (2) always rational (3) rational or irrational (4) zero
(1) Tea safem (2) waa ufom (3) wfti srorn sufcim (4) =
If the product of zeros of the polynomial f(x) = ax® — 6x% + 11x + 6 is 4, thena =

g agTE f(x) = ax’ —6x° + 11x + 6 F YA N PHFA4 8, T a =
(1) 3/2 (2)-3/2 (3) 2/3 (4)-2/3

QD



141.

142.

143.

144.

145.

146.

n® - 1 is divisible by 8, if n is

n’-1, 8afamfsasme, d@an? -

(1) an integer (2) a natural number  (3) an odd integer (4) an even integer
(1) T orieh (@) TR Een  (3) W iE  (4) G EE Ui

In figure AABC, 2B =90°BD 1L AC, if AB = 10 cm. BC = 20 cm. find BD :
o °, 5yt ABC 5, 2B = 90°BD L AC, afg AB = 10 cm. BC = 20 cm. @& BD 91d hifsu-

(1) 25 2
(2)4V5 2
3) 35
(4) 8.5
\/_ B C
1 1
If a, B are the zeros of p(x) = 4x® + 3x + 7 then a"'B‘ 3
1 1
G o, IEIE p(x) = 4x% + 3x + 7TH YA L, T €+E =
¢ 1 3 3

1 3 @ -3 @ @ -

e ) =y area (AAPQ)
In the adjoining figure, PQ || BCand AP : PB = 1 : 2. Then 5 (AABC) (AABC)

; ' . area (AAPQ)
fAm@ = #,PQ || BCANAP:PB=1:2. 19 —VT TR
A
Q g
C B
1 1 1 1

M 5 @ 3 ® 3 @5
Find the value of p(x) = 2x° -Bx + 3atx =-1:
p(x) = 2x° —5x + 3atx = -1 F AT+
(1)-7 (2) 7 (3)6 (4) -3
sin(45° + 6) — cos(45° - 0) is equal to
sin(45° + 0) — cos(45° — 8) 1 A & -
(1) 2 cos © 2)0 (3)2sin® 4)1



147.

148.

149.

150.

The pair of equations: y = 0 and y = -7 has:
gHEm Ry = 00y = —7 % o0 el 1 He &

(1) one solution (2) two solution (3) infinitely many (4) no solution
(1) @ & (2) & (3) o7 7 (4) =TE T TRl
tan® 6 —1 B

tanf—1
(1) sec®6 + tan 6 (2) sec®0 —tan 6 (3)0 (4) tan® — sec?®

If the polynomial 3x% - x° — 3x + 5 is divided by another polynomial x — 1 — x2, the remainder comes
out to be 3, then quotient polynomial is

7fg sigug 3x2 — x3 - 3x + 5 ! T 374 9gue x — 1 — x2 & Tl fofan an 2, 7@ oeher 3 Wi 2 8, @@t
TR § -
(1)2 -x (2)2x-1 (3)3x +4 4)x-2

Mahesh has some cows and some hens in his shed. The total number of legs is 92 and the total
number of heads is 29. Find the number of cows in his shed.

TRV % U S A a9 F/S gArAl © | A wer W F g 92 aon et fadl w1 " 29 7, 79 Sueh 9" Mt
1 HEAT T HITAT-
(1) 12 (2) 14 (3) 17 (4) 19



SECTION - D: BIOLOGY
FOR ADMISSION IN MEDICAL STREAM

This section contains 30 Multiple choice questions. Each question has four choices (1), (2), (3) and
(4) out of which ONLY ONE is correct.

161. Myelin sheath of nerve fibres is produced by:

TFreRT TGSl o1 AIEET STT=ss Sca= arl 8-
(1) muscular tissue (2) Connective tissue  (3) Schwann cells (4) Dendron
(1) Tefts Sas 4 (2) Garsft a9 (3) vam wifyristi @ (4) S

162. Which of the following enzyme is produced by liver
=1 & | HITE TEE TG & I A S 8-
(1) Pepsin (2) Trypsin (3) Lipase
(1) Fet= (2) fefe (3) TS

(4) No enzyme
(4) T8 § = TE

163. A gland not associated with the alimentary canal / digestive system is—

T U S o SrerRETel/ 9 a5 ¥ gt T2 8-
(1) Liver (2) Pancreas (3) Adrenal (4) Salivary gland
(1) 7Fa (2) s (3) rferaEn (4) &R Tt

164. Two examples in which nitrogenous wastes are excreted from body in the form of uric acid are :

3 3t 3greew foi Argeierm stufere it one & w9 # Seafsta oo wman 2-

(1) Insects and bony fishes
(3) Birds and Insects

(1) =i a1 sfege gaferal
(3) weft qem

(2) Mammals and Molluscs

(4) Frogs and cartilaginous fishes
(2) TaTERT q9T HeTeh

(4) Fem qun Sufeere mafeml

165. Phenotypic ratio of F, generation of monohybrid cross is

T HHL TR HF, e H Aoy s -

(1) 3:1
(3)1:2:1
(1§33 1
(31:2:1

(2)9:3:3:1
4)1:1:1:1
(2)9:3:3:1
(4) None of these (371 & 1% 7#)

166. The main product and by product of photosynthesis are respectively

WERTYT HYCTTV] 1 & SeIE A1 FE<eaTg Hov: -

(1) Starch and Glucose
(3) Glucose and Oxygen

(1) w=rd ao TS
(3) "oy qAl ST

(2) Oxygen and Glucose
(4) Glycogen and Oxygen

(2) s a1 Tefehrs
(4) TemgRe q9r s



167.

168.

169.

170.

171.

172.

173.

174.

Fermentation/Anaerobic respiration is shown by

Tover/ sTarEa Yo S S g

(1) all fungi (2) all bacteria

(3) some fungi and some bacteria (4) all micro-organisms
(1) |t waw (2) Tt Sty

(3) T FHaF T H/S AT (4) =it g =

Part of the brain control voluntary activities and thinking is
T o1 9 fewm S Ufese fHanst aan S § qred 3

(1) cerebrum (2) cerebellum (3) hypothalamus (4) medulla oblongata
(1) wefers (2) sryHfET (3) T (4) FregenstaERTE
The number of ovules in an ovary may be-

T SIS § AISTUSt T HEAT Bt -

(1) One (2) Many

(3) Two (4) One to many

(1) == (2) s

(3) (4) TF § 3T T B TR ©

Site of glycolysis is —

TATEHICTS A = Bl &

(1) Mitochondria (2) Cytoplasm (3) Golgi body (4) Chloroplast

(1) Arg2rpt=<ran (2) =iy 5= (3) Tifesierr (4) ST | q g el
Excretion through kidney occurs in

T % GRI SedS oIl -

(1) Hydra (2) Insect (3) Earthworm (4) Mammals

(1) Tz d (2) ®eH (3) w9 H (4) TAeTd |
Fertilization of ovum takes place in

7o) =1 Fee 2 -

(1) ovary (2) fallopian tube (3) cervix (4) uterus

(1) serm (2) etz AT (3) wfeara (4) e

Which artery carry deoxygenated blood-

o ot & efforaom tea o wafea 2rn &-

(1) Hepatic artery (2) Pulmonary artery  (3) Renal artery (4) Aorta

(1) =t ereeit (2) EFE T (3) T et (4) meTeEsT

In plants, the transportation of minerals is carried out by

el H, TS gerl o1 AR e R TR S &
(1) Xylem (2) Phloem (3) Root hair (4) Lenticels
(1) SmEer™ (2) Wi (3) g1 (4) =ty

G2



175. To reach the left side of heart, the blood must pass through-
7CA & A TWE T HI TEEA B oy Res e v B

(1) Liver (2) Lungs (3) Kidneys
(1) = (2) BFed (3) T+
176. Motor/Efferent neuron carries the message from CNS to-
TCToh/ STIETE! TR Te ¥l ol e 19 IRl o1 o oiohe foRgeh! T STt 8-
(1) sensory organ (2) spinal cord (3) effector organ
(1) Hast a1 (2) &Iy (3) wrEt 3m
177. Longest part of large intestine is
TET A T FIH T 0T §
(1) Caecum (2) Rectum (3) Colon
(1) H (S7gH) (2) werer (3) Fe=T=
178. The stomach is located in the upper portion of the cavity
STEE T o T 1 fega e ¥
(1) Right, thoracic (2) Left, abdominal (3) Right, abdominal
(1) g, 9eft (2) =, ed= (3) T, 35
179. Glomerulus is present in:
ToHEeTd fRaH Sufedd i €
(1) Posterior part of alimentary canal (2) Bowman's capsule
(3) Loop of Henle (4) DCT
(1) STBRATE 1 999 4T (2) 5 9HYe
(3) T F T (4) DCT

180. Example of vestigial organ in human body is
T YRR §  STagre-3i7 ' 1 SaTe ¥ -
(1) Appendix (2) Duodenum (3) Incisor
(1) Fwed wfwifom  (2) weoft (3) F=rh <a

181. Which of the following absorb light energy for photosynthesis?
71 5 | o WIS YT H TR S5 ! ST Al ¢ 7
(1) Chlorophyll (2) Water molecule (3) O,
(1) FARITEe (2) T =1 &1 (3) O,

182. In lack of oxygen in our muscle cells pyruvate is converted into—

O, srpafia 3 ey i rsee Tfafia 8 o -

(1) Ethanol (2) Lactic acid
(3) Carbondioxide and water (4) Carbondioxide
(1) sofet (2) Sfee s
(3) FrETETzSTEES TE WA (4) FETEEATRES

(4) Large intestine
(4) T | =g T

(4) brain
(4) afeTH

(4) Tleum
(4) sferm

(4) Left, thoracic
(4) =, 9=

(4) Colon
(4) Fe=rd

(4) RuBP
(4) RuBP



183. The growth movement of plant organs in response to force of gravity is called :

T T % WHIS H UG S o T Ferdt ¢

(1) Phototropism (2) Thigmotropism (3) Geotropism (4) Chemotropism

(1) wehrer Srgerei (2) w7l Srgerct (3) & STt (4) TE STt
184. Cessation of menstrual cycle is called :

A =gk o1 & ST Hectral &-

(1) Ovulation (2) Puberty (3) Menopause (4) Implantation

(1) sToeteat (2) FreArT (3) "M (4) Tr9or

185. In aerobic respiration glucose is oxidised to produce—

A TG H, o[RS o SRR & Sl ¢

(1) Ethanol (2) Lactic acid
(3) Carbondioxide, water and energy (4) Carbondioxide
(1) 39+t (2) SfFeen o1t
(3) FESTESAIFAES TS T (4) FrEeEsTFIRS

186. Excretory waste in plants—
el H Scast qerd-

(A) Can be stored in guard cell
) Can be stored in vacuole
C) Can be stored in old xylem (Resin and gum)

(B

(

(A) T HITYTeRT | TUfed 2 €

(B) TauTT  wufed e ©

(C) g Sigerd # gufed a1 weha & (IS4 a9 Tie)

(1) A,Band C (2) Aand C (3)Aand B (4)Band C
(1) A, Baar C (2) Agar C (3) ATar B (4) Baar C

187. The hormone which brings about characteristic changes in male at puberty is
AR & G GE | oA w1 9iiad e e & g g g2

(1) Testosterone (2) Estrogen
(3) Follicle stimulating hormone (4) Thyroxine
(1) T=Er=tA (2) T=SH

(3) mftFar ek B (4) arEE

188. Blood vessel with thinnest wall is—

e T anfest i <raR 9ol aaelt gl € 2
(1) Artery (2) Vein (3) Capillary (4) Ureter
(1) st (2) famr (3) =fererr (4) garafest



189. Ascent of sap according to transpiration pull cohesion theory is—

arsaegs ferare fagr & T ER, TWRIE B &

(1) Active process

(3) Both active and passive process

(1) == foran

(3) wfer= foran aan fAfswa foran <=1

190. Human blood pressure is—
HHa | & qE-

120(systolic)
1) ‘80(diastolic)

80(systolic)

2) 120(diastolic)

(2) Passive process
(4) Neither active nor passive

(2) Taferar foem
(4) =1 fe afsra wa = fz fafera

120(diastolic) 80(diastolic)
80(systolic) (4) 120(diastolic)



ANSWER KEY

1 2 3 1 5 6 7 8 9 10
1 4 2 3 1 3 2 3 1
11 12 13 14 15 16 17 18 19 20
1 3 o 3 1 3 1 4 1 3
21 22 23 24 25 26 27 28 29 30
B 4 - 4 3 2 2 1 4 2
41 42 43 44 45 46 47 48 49 50
1 2 2 1 1 2 2 2 3 2
51 52 53 54 55 56 57 58 59 60
1 2 2 1 2 2 2 3 1 2
61 62 63 64 65 66 67 68 69 70
1 1 2 3 2 4 2 4 2 4
81 82 83 84 85 86 87 88 89 90
3 3 3 2 3 4 2 3 3 2
91 92 93 94 95 96 97 98 99 100
2 2 2 2 2 1 3 4 3 4
101 102 103 104 105 106 107 108 109 110
2 2 2 3 2 4 1 1 4 4
121 122 123 124 125 126 127 128 129 130
1 2 2 3 4 2 3 3 1 4
131 132 133 134 135 136 137 138 139 140
4 3 3 4 1 4 3 3 1 2
141 142 143 144 145 146 147 148 149 150
3 2 Rl B 3 2 B 2 4 3
161 162 163 164 165 166 167 168 169 170
3 4 3 3 1 3 3 1 4 2
171 172 173 174 175 176 177 178 179 180
4 2 2 1 2 3 3 2 2 1
181 182 183 184 185 186 187 188 189 190
1 2 3 3 3 4 1 3 2 1




